

$\uparrow L_z$ Inflation *
 $\uparrow P \uparrow$
 * Warenkorb $\rightarrow$ durchschnittlich
 $\emptyset 760$ dauerhaft
 Laspeyres

$$vpi = 1,0290 = \frac{\sum X_{t-1} \cdot P_t}{\sum X_{t-1} \cdot P_{t-1}}$$
 2,9%

1,5% $\downarrow$ $\bar{Y}_I^D$ Schulden (?)
 () $\rightarrow$ Multiplikator
 Aktelevator *
 $\delta i p$ $\delta NE, VE$ $\uparrow$ Kapital/G
 -A

$$\begin{array}{lcl}
 A_{10} \uparrow & L^* & * \\
 & L^* \Leftrightarrow \frac{dY}{dL} = \frac{w}{p} & \\
 \downarrow & & \\
 \text{offene } LW' & \rightarrow & ZB \\
 & & AD = NKX
 \end{array}$$

$$\underline{ISLM} + ZB$$